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Goals: study y. change with P, as a function of B,

Neon,

B,/ I,

I:)NB
4.5/0.9 | (4->4) | (4>6) | 4->2:4-H-L

3.6/0.7 4->4 4->6 4->2

5.5/1.1 | (4->4) |(4>6) | 42"
Neon
5.5/1.1 | (4>4) | (4>6) | 4->2

‘preheat 0.4 s high-k "/a=0.65

 Central T, flattening, electron transport increase with P, at 4.5 kG

» See how effect changes with B,
» Check particle transport and high-k fluctuations at r/a=0.25 and r/a=0.65
* Technique: ‘freeze-in’ g-profile -> power steps -> B, scan at fixed I /B,

» Partly completed (1/2 effective run day, re-develop MHD free 4.5 kG shots)



MHD quiescent window around times of interest
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* No large internal modes or ELMS

* H-L drop, 1¢ Increase at 4->2 step



T, responds better at 5.5 kG, but central T, still flat
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* Less ., degradation at high field, but central electron transport still rapid

(S. Kaye, preliminary)



At r/a=0.25 high-k changes little with P,, B, ?
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In contrast to electrons,

Ne transport improves with P,
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* Less Ne penetrates at 4-6 than at 4-4

 Possibly due to higher wg,g
* Viincn Change also likely



Strong ion ITB after P, drop?
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» Stored energy slightly decreases but then recovers
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High T, and t¢ In H-mode with only 2 MW (elTB ?)

. _ 55 kG _
14 - 127048 . 127a4é 0.575 sec -ISS?C';’E:E = NS TX
LT, 15
6_
120 1 127946
— le Flasma current
o8 .
1.0 8 2 | [ I |
— = | ]
= S 4f ° ! I [ !
= o0& . — g | ' . |
E:—t ;2?33_ 74N
w06 8 o Meutral Beam Fower
= = E I ]
- L 43 — | =
0.4] 8 7 - [ ! 3
o % e I I I 3
o I 3
0.2 F 1 T 1 - ! I - ' ' I :
ool . ‘ . ol o i ar1015 = . Line—Integrated DensitI _
20 40 80 80 100 120 140 180 20 40 B0 B0 100 120 140 160 . Eimm-_ | [ ' ! | | K
RADIUS {cm) RADIUS (cm) L aol5E | | ' | | =
L | E
5 210"k . | . | 3
200 L L
127948 0.575 sec Energy confinemeant time
v = Sdef E
‘ 1 n 208F E
e C'-C'S_— -
I S .
3 5 = 10E =
: I 2 | A
= —100F 1 & - 3:34:— | ST
= W E =
o 1 I 1 1
::E 0 010 Gz 0,30 040 (.50 .80 8]
—200r 7 =3 Seconds
=
=300 P T | . . .
20 40 &0 80 100 120 140 180 20 40 B8O B0 100 120 140 160
RADIUS {cm) RADIUS {cm)

* Not enough time to try and further increase T,
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